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SN2 and E2 Reactions (no rearrangement possible and stereospecific)
Strong nucleophiles (weak bases) e.g. NaCN, KI, KBr, NaS-R, HBr, NaN3
SN2

30 and 20 substrates may be chiral (inversion of configuration: R→S; S→R; stereospecific rxn) pp. 238-239 textbook
e.g.  Mechanism 6-3 on p. 238.

Try problem 6-20 on p. 239

Strong Nucleophiles (also strong bases; non-bulky) are likely to produce SN2 and E2 products
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Mechanisms:
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Stereochemistry for SN2 (pp. 238-239 textbook); for E2 (pp. 261-262; not mentioned here)
Another example for E2 (need strong bases!); stereochemistry is not discussed and/or suggested in this example!
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SN1 and E1 rxns often concur (multiple products are possible).
They share common intermediates (carbocations).

SN1: racemization (stereochemistry) is often a problem!

E1: Zaitsev’s products dominate with trans-selectivity.
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